


Select the correct combination of
Mathematical signs that can

sequentially replace the ¢ signs and
balance the equation

TR fagl @ 98 Sgiee &1 994
& ol Hd ®U q ¢ fasl Bl
yfoenfia &) 9@ 3R e &l
Hferd &Y 9o

990110205070040040 21

(a) Ty Xy X, +9 =y ¥y +x
(b) + +, Ny Wy = Wy L y

"’M +9 x,x,:,-{-,x,-




Statement: -

Some kitchens are triangle.
No triangle is a wardrobe.
All sofa are triangle.

Conclusion:-

J I. No sofa is a wardrobe.

II. Some kitchen being sofa is a
possibility.

x III. All triangles are kitchen.
v IV. Some triangle are sofa.

B —
Y Wisax B 2 |

&S Brger e 1l 2.
aft wie e 2
s —
(a) Only I & II follow I ®Ig WIBT ATARI &l 2 |
(b) All follows II. $8 a1 & e g4 & GHE

(c) Only III & IV follow © |

_~td) Only III not follow . aH By “ﬁg‘T\' 2 |
Iv. 58 B wier €|



What will come in place of question
mark (?) in the following series

frfofed g@ar 4 e g (?) @ N

T T JgM?
0 143 yeg 133 0, 143, 466, 1133, ?, 4043
\/\/\_,\ ? (1073 ')6)’2280

. ‘ (b) 2480
,}3 © o I (c) 2180 @
Iz R 235 31x3) (d) 2380



Find odd out.
faus s1a & |

(a) 49-1042
(b) 64-6904

36-2169
(d) 81-1656

©



Pointing towards the photographs of
a man, Sheela said “He is my mother-
in-law’s daugther’s only brother’s
father-in-law”. How that man is
related to Sheela?

Uh JeHl @ TR @ AR SR
$ed gy ¥em o ber, 98 48 ure @l
481 @ gdald Ay & GYX 2| 98
et ofiem @ &9 wefta 27

EY brother/‘lTlg
(b) brother-in-law /Tl

_/6) father/ for

(d) son/YA




Select the correct mirror image of
the given figure when the mirror is
placed at ‘MN’ as shown.

¢ TR a6 | qur BfY &1 =TgA
HIVY &9 JUI ‘MN’ TR @1 AT & 4T

= e T 2

(b) (d)



Select the option that represents the
letters that, when placed from left to

right in the following blanks, will
complete the letter series.

99 fddcy &1 999 $N O S9 JER Pr

Wﬁﬁﬂaw%ﬁ% Rt
W 3R

(d) MUIHOMKJMNJ




Direction: some statements are given
followed by some conclusions.
Assuming the statements to be true,
even if they seem to be at variance
with commonly known facts, decide
which of the conclusions logically
does follow(s) from the statements.

fde g9 Ul @ 9€ g9 ey A
T §| FUA P T AFEA §Y, WA B 9
™ AR R sa A ¥ A= wdia B
folr of f& @19 w1 s doETa wU |
HUT BT ITEIT HAT B |

Statement / HYA:
L<I>N<P=A=Q=G
Conclusion/ frep:
x (i) L<P
i) P=G



(a) Only conclusion I is true

ddd e 1 9T 2

\)b‘r Only conclusion II is ture
®ad 7Y 11 9 @

(c) Neither conclusion I nos II are
ture

T frees 13 T8 1w @

(d) Both conclusion I and II are true

frspe 1 3R 11 <4 9w @



/ only conclusion II is true
dad frsed 11 I 2

(b) only conclusion I is true
oad frspd 1 W @
(c) both conclusion I & II are true

forspd 1 3R 11 <Y W @

(d) neither conclusion I & nor II is
true

TJda s 1R T 101 9T 2|

Direction: some statements are given
followed by some conclusions.
Assuming the statements to be true,
even if they seem to be at variance
with commonly known facts, decide
which of the conclusions logically
does follow(s) from the statements.

fder 59 ool & € g7 oy
T §| T B I A §Y, WA & 9
™ AR W Fd 7= ¥ A= wdfa @ e
fol of f& @19 a1 ey doETa wU |
HY] BT ITEYT BT B |

Statement / HY:

4
$=*>#2 " &=>;&<@>!

Conclusion / frepv: # 2- '\

i #>! )(
I —<aJ/



Ry
’j_ch.D(L

‘Anly III is true

(b) only II is true
(c) all are true
(d) only II & III are true

Direction: some statements are given
followed by some conclusions.
Assuming the statements to be true,
even if they seem to be at variance
with commonly known facts, decide
which of the conclusions logically
does follow(s) from the statements.

fder 59 s @ € o oy
T g U D HI A Y, WA B 9
3™ AR W F1a o= ¥ e e @l
fola o f& @9 a1 e q@ETa w9 9
HUYA] BT IFEIT AT 8 |

Statement / HYA:
M=Q<L;I<M;H>M;P=C
Conclusion / fAr=py:

I. H=C ){



A is grandson of B who is married to
C. F is mother of K who is married to
S. B is father of S but K is not son of
F. How is A related to F?

A, B &1 giar 8, forgar fage ¢ 4
g3 2| F, K & 4l =, foraar faare s
4 gam eI B s & far g, dfdd K, F
®1 YA T8l 21 A, F ¥ {5y woR
defera 272
(a) brother/ ¥TS
(b) Husband/ ufal
(c) son/ 8¢l

‘/MGrandson/‘ﬁfﬂ



3% s &

{

$ is 12 km North of #. % is 4 km east
of $ and ” is 15 km west of %. + is 8
km east of #, and @ is 6 km of south
of +. * is 5 km west of +. What is
shortest distance b/w # and @?

$, # 4 12 frh SR A 81 %, $ 9 4
foft gd & 2 3k A, % ¥ 15 fHh
uf¥aq & 81 +, # & 8 fol qd o 2,
IR @, + d 6 fodl cfdror § 81+ + 4
5 foft uR=w d 281 # sk @ & =
*[Taq 3 T 87

e 10 km
(b) 13 km
(c) 25 km

(d) S km



y In a certain code language, REASON
18 S |S ‘ is written as 1844AS67 and BORDER

is written as 5024DR115. How will

fR9d §c W1 H, REASON @
IR BORDER oI
024DR115 for@r ar 8| 99 oy o

@ COMBAT ¥ for@r Smgn?
o sssmrzs B ORDER
) 2412MB13¢ 23 [] M\Qz 1

(d) 2412BM134

. COMBAT
H&ﬂew) 5‘9-2}1 J’“S




foan o fean

‘microphobia’ is related to ‘fear of
small things’ in the same way as
‘phobophobia’ is related to fear of ‘—
'?

AgHIGifear Bidl 9l & ¥ 49
\uﬁ d¥e Wdfd @ ofd ‘Bidinifear
————————— '® X 9 gaftm 2?

(a) disease
(b) drink

(_letfeEar
; PQPL‘M (d) everything

Q



Find odd one out.
fawy g 91a & |
(a) 4963

(b) 7312

\Ac] 3663
(d) 5954

©



A number has been denoted to each
of the given letters. Select the option
from the following four possible
arrangbements of these numbers that
forms a meaningful word.

fau v yAP AR @ forv e &
difed @ g B 3T AR DI
frr=ferRaa o~ warfaa @aawenst 4 4
99 fddcy &1 9991 & Wl e e
ITeg T 2 |

o (LU

(a) 5341627
'c) 3265174

(d) 5376124



On interchanging signs ‘+’ and ‘-’ and
numbers 25 & 50. Which of the
following would be correct?

fog '+ 3R '~ T G 25 AR 50
I ¥ 9o+ R f=feRaa § @
@I 9T gal gi?

(a) 27 x25+50-9+10=73 X
,/f()50+10x25+9-27=143/

(c) 27 x 25 + 50 -9 + 10 = 63

(d) 10x25+9-50+27?5—\/

3y -A8
7]



A wall clock is showing the time 45
minutes ahead. If the clock now
shows 10 : 25 minutes, what time
will the image of the correct time
show in water?

P J9R G 45 BT oM &1 9wy R
w2 Ak ut ¥ 3@ 10 : 25 five W
fe@ & 8 o we 999 &1 ufafew g

H T 9HY ST ex,‘((h;,q

\AS:SO

(b) 9 : 50 0\3‘10
(c) 9:40
(d) 8 : 25

®



- @A s m——

Reaching a place of inaugration of a
park on Thursday. I found that I was
two days later than the scheduled
day. If I had reached on the previous
Friday. How many days early/late
would I have been?

AR $l Uh UId & SqHlcd
W 984 W& & | 49 uran f& # feiRa
fer | < 9 <3 9 amar o) afe 4
fod yhar &I ugd AT ®war| #
foas fa=1 ggel /3% & 3mam giar?

(a) 4 days late

\—1B] 4 days early

(c) 3 days early
(d) 3 days late




Eight friends Hans, Harry, Hardik,

H,“/’Habib, Harish, Haider, Hina, and

A\ ; ,
V\w HM"\ M Mema are sitting around a square

S

Homn Hansh

Hing,

table in such a way that four of them
sit at corners face the outside and
those who sit at edges face towards
the centre.

Haider faces centre who is fourth
right to Hina. Hans faces outside and
doesn’t sit with Hema. Harish is third
E————
left to Harry. Hema is second left to

Hw Hina. One person b/w Hardik and

Habib. Habib is opposite to Hans.
Which option is correct?

gax, fa<r 3R B9l & ameR A9 &
IRl MY 39 avg 46 @ fd sH 4



|
arRff 3y R e

,\/(ﬂ Hema is opposite to Harish.
=41, B0 & faudia 2 |

(b) Habib is second right of Hardik.
gdld, gifcd @ S 4 U W

W2
(c) Harry is second left of Haider.

B, BaY @ 9 9 W N W
g

(d) Harish is opposite to Haider.

Y1, 8eY @ faudid 2 |



Seven persons (A-G) are sitting
around a circular table facing the
centre and are playing different
games viz; CoD, PuBG, IR, Pain,
Fortnite, DR and NC but not in same
order. B sits third to the left of D.
Only one person sits between B and
G. The one who plays fortnite sits to
the immediate right of G. F, who
plays DR, sits second to the right of
the one who plays fortnite. A, who
plays pain, sits second to the left of E
but E is not the neighbour of B. The
one who plays IR sits adjacent to G,
who plays CoD and the one who plays
PuBG. Who plays fortnite?

ard afkh (A-G) U MdTdR 39 &
IRl 3N D% DI AN @ b 43 ©
IR IAT-—3AT Wl Wl Y8 & o9







Statement:
No light is current.

Some Bulb are Bright
All Bright are light
Conclusions:
/ 1. Some Bulb are not current
X 2. No light are Bulb

HU:
BIS dlgc Hc T8l B
$Y dcd dISC ©
gl g18¢ dISe ©
‘)()Only 1 2 .
(b) Both . .
(c) Only 2 1. Y dcd PHIC -8l &

(d) Neither 2. Blg cllgc dcd T8l &



Direction: Select the set in which the
numbers are related in the same way
as are the numbers of the following
sets.

(NOTE: Operations should Dbe
performed on the whole numbers,
without breaking down the numbers
into its constituent digits.

E.g. 13- Operations on 13 such as /
adding / deleting /multiplying etc.
to 13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical operations
on 1 and 3 is NOT allowed)



(e : JERl @ favw wqg &1 999 o |
€ < : SRl B SA® GHUCH Dl H
feafdra fdg famr, qof w&eid w®
wfharg e & s =nfde | SerEvor
13 — 13 W A o & 13 #
ST /USHT /O AT Fodife 13 H
foar <1 |®ar 81 13 @ 1 3R 3 #

famforg & iR fw 1 3k 3 o™
AR+ 13x3 Wbl T A sy € B )
RXAIXD -

(13,47,7)

>(a) (13,57,19)
) (10,36,8)
) (22,49,9)

A (19,50,4)



Hina, Shakti, Shree, Lata, Kiran and
Mita are a part of family in which
there are two married couple. Lata
and Mita are siblings. Shree is the
son-in-law of Hina and has only one
son Mita. Shakti is the only child of
Kiran, who is the grand father of
Lata.

How is Shakti related to Lata?

fesr, wifwp, sft, @ar, fexor efix Har
gRar &1 fewar € forad <1 faarfaa
Wie &1 odr 3R War "rs—<8d # |
sfi, fesm @ T € 3R SR TS Bl
der Hrar 21 ke fevor &Y sdaldl

a2, Ol ofdl @ <IaT @ |
gifp oar 9 fog yer defta 272

(a) Sister

(d) Wife



Qs

A man and a woman is sitting in front
of a table. Mother-in-law of the man
and Mother-in-law of the woman is
Mother and daughter respectively.
Mother-in-law of the man has only
child. How is the man related to the
woman?

S YO8 3R e Al b AW B
e 43 2| 4oy @l 9 3R Afee
o M R e ) R o A |
I AN DI gHaldl GAH B | JOF Bl
afger @ @41 Geg 2?

Father-in-law
(b) Brother-in-law
(c) Father
(d) Brother



(a) Only 1 follows
w_Ab) Only 2 follows

(c) None

(d) Both follows

Direction: some statements are given
followed by some conclusions.
Assuming the statements to be true,
even if they seem to be at variance
with commonly known facts, decide
which of the conclusions logically
does follow(s) from the statements.

frde g5 sl @ a7 g5 el A
T T HUE P GG A Y, el B q
I AR W 3 9ot | = v @9 8
fofg & & @9 1 ey geETa w9 9

HUAT BT ITEIT AT B |

Statement : / HY:
Q<H<K2>2R>S;Y<B<P<H
Conclusions: / faspd

(a) S>B

(MY<Ku/’



(a) Only 1 follows
(b) Only 2 follows
(c) Both follows

Jd) None

Direction: some statements are given
followed by some conclusions.
Assuming the statements to be true,
even if they seem to be at variance
with commonly known facts, decide
which of the conclusions logically
does follow(s) from the statements.

fAder $8 dUAl & 98§ ey A
T §| FUE P HY AN g, el B q
IM AR W T @Al ¥ = ueda g g,
fol of & a9 o fred q@ETa wU 9@
ST BT IFEIT BT 8 |

Statement : / PUA:

Q<R; S<T;P>Q;R>S

QAP

Conclusions: / ey



®

ief 53
(b) V494
(c) V550
@z

Salman walks 9m towards west to
reach point A. Then he turns to left
and walks 7m to reach point B. Then,
he turns to right and walks 12m to
reach point C and again he turns to
left and walks 15m to reach point D.
After that he turns to left and walks
25m to reach point E. Finally, he
turns to right and walks 5m to reach
point F. Shortest distance between A
and E.

AR Hsdl = 3R fdg E )} uga+d
forg 25 #rex gaar 21 3fa ,
R Hsdl & 3R fdg F ) uga+
forg 5 ficx gaaT 21 AR E @
g9d HH & FTd DY |

T o



Statement:

“x-chocolate is ideal as a gift for
someone you love”-An advertisement

Assumption:

1. People generally give gifts to loved
ones.

2. Such advertisements generally
influence people.

3. Chocolate can be considered as a

gift item.
B
“Tq—dibade o9 IMT IR Hd B
S folt U SUBR @ wU #H 3yl
g —Ud fa=muA
HI=IAT:

(a) Only 1 and 2 are implicit 41 amaly w a1 Al $ SUER

(b) Only 2 and 3 are Implicit [d 2 |

(c) Only 1 and 3 are implicit > v fagme sm 9k W oarn @

yATfad $Rd ©.
\,MAII are implicit 3. dibclc Bl b SUSR a¥g AT Sl
bl 2 |



Select the Venn diagram that best

represents the relationship between
the following.

SS9 99 JIRW HT FIT BN Wl
fr=iferaa @ 99 & 999 &1 9dicd

w9 9 quriar 2 |

Mammal, Cow and Bat?

WIURR, T 3R FHIIES?

@ ) - @
) - ) -



A

¢ PfPCAKEN

(;V

AN F“C‘ € _ P C (a) Vishal & Pinky

Afnq;j{

(b) Harsh & Itika
(c) Caral & Emily

grUishal & Emily

9 people, Asha, Vishal, Caral, Pinky,
Emily, Farah, Golu, Harsh and Itika
are watching a movie in a theatre
sitting in a straight row facing North.
Vishal is at one end of the row. Harsh
is seated adjacent to both Farah and
Golu. Caral is to the immediate right
of Pinky and in the third place to the
right of Emily. Asha is on the
immediate left of Farah. Farah is in
the third place to the left of Vishal.
Who are at the ends of rows?

9 o, 3amen, fauma, ava, e,
Ufiiell, wrre, Mo, '¥ R sfaar e
frver § SR @) MR vH el o H°
43 b <@ @ 7| faena dfe @
Ud BIR W ©| 'Y, BUE IR T
Gl @ 9cl H 49T 2| ¥ fUa @
dId q1¥ IR el @ Tv R ==
X 2| 3T, BRIE & Sl 413 3NN 2 |
B0E, faumd @ 418 3 dR I W)
2| upal @ Ia A Hia B?



(a) Only 1 follows

(b) Only 2 follows
) Neither

(d) Both follows

Statement:

The cinema halls are incurring heavy
losses these days as people prefer to
watch movies in home on TV than to
visit cinema halls.

Courses of Action:

1. The cinema halls should be
demolished and residential multi-
storey buildings should be
Constructed there.

2. The cinema halls should be
Converted into shopping malls.

B
IMoidd REHTERT @ 91 °1er 8 &1
g ife o AW 8fa oH @t
ol 8% # ddl )} fhed Q@+ gdg
B B |
HrRIars & QIR -
1. R=aT g8l @1 dis®x 98l Jmardy
qgHfsten saRal &1 fmior fear s
q1fay |

2. =91 giell &1 AT d@fa § aedal
foar s arfeu |



©

(a) Only 1 follws
(b) Both follows
42T Only 2 follows

(d) Neither

Statement:

India has been continuously
experiencing military threats from its
neighbouring countries.

Course of Action:

1. India should engage into an all out
war to stop the nagging threats.

2. India should get the neighbours
into a serious dialogue to reduce the
tension at its borders.

HU:
HRd I darR 94 gsidl a3n 4@
Q=T Gzl ST GTHAT BT IS V&l 2 |
HRATE ® QIR

1. 9Rd &I HIGE @dxl &l Add &
forg atavwr gg # wfia &= arfey |
2. HRd ®I Y- A8 U T91d HH
a1 @ fov geifial & Tk qrada
# wnfia sAr arfave |



Statements:

1. The life today is too fast,
demanding all full of variety in all
aspects which at times leads to
stressful situation

2. No. of suicide cases among
teenagers is on increase.

B
1. 3T HT offaq 9gd a9 2, B U8
¥ fafdaar @t weva 2, o
eHI—oH garagel Refa der & wrd
B

2. fHuikil § T @ AWl DI

&7 9¢ W ¢ | @
(c) Both the statements 1 and 2 are &yStatement 1 is tBe cause and 2 is
effects of some common cause its effects

(d) Both the statements are effects of (b) Statement 2 is the cause and 1 is
independent cause its effect



Arrange the words given below in a
meaningful sequence

1 fRu v vrsgt &1 Grie $9 A
afRerd a%
1. Key

2. door

3. lock /

4. Switch on
S. Room @
(a) 5,1,2,4,3

(b)4,2,1,5,3
(c)1,3,2,4,5




Direction: Select the set in which the
numbers are related in the same way
as are the numbers of the following
sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the numbers
into its constituent digits.

E.g. 13- Operations on 13 such as /
adding / deleting /multiplying etc.
to 13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical operations
on 1 and 3 is NOT allowed)

9 Wqwd &1 999 diforg o wEm
¥ TR et 3 forg wer fr=ferfeaa

el P WA Heferd B |



(A : Rl & Qvd 9y &1 999 o |
€ § : SRl P SHe GUcH Dl A
feafoa fag faor, Tof d&mei w
fpard freorfea &1 s arfay | SR
‘13’ — 13 R dfbad o & 13 #

SiIeT /ECHT /O &R Fodlia 13 ¥

.
]Q.—L’?’:%C’ foar <r 9@ar 21 13 @& 1 IR 3 H
- fanfora & sk R 1 3R 3 wIford™
[(= 53:"3\ ' B B IR TE R )
(12, 8, 80)
(16, 10, 131)

/@ (11, 5, 55)
(b) (13, 4, 160)

(c) (14, 12, 126)
A (9, 6, 54)



Direction: Select the set in which the
numbers are related in the same way
as are the numbers of the following
sets.

(NOTE: Operations should Dbe
performed on the whole numbers,
without breaking down the numbers
into its constituent digits.

E.g. 13- Operations on 13 such as /
adding / deleting /multiplying etc.
to 13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical operations
on 1 and 3 is NOT allowed)

S W &1 999 piforg fored wEm
S TeR waftd 8 fora yer fAmfafaa

el B G e B



3
3 =
TR
A3 e
u 4

(e : WEml & faww wE &1 999 |
@& < : TRl P S GueH D A
fefore fég fasr, oof deel w®
bt frenfea & St =@y | SeER
‘13’ — 13 W ufpaw o & 13 #
ST /ST /O R e 13 H
far o g&ar 81 13 a1 1 R 3
faiforg &r 3R iR 1 3R 3 RN

=ﬁ@3niiﬂtiaﬁ<a§qﬁrﬂét%ﬂ>
(82, 35, 78)
(18, 27, 30)

Ha) (21, 27, 24)
(15, 36, 38)
‘yﬁzz 33, 40)

(d) (20, 25, 32)






